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QUESTIONS PRESENTED 
 

1. Whether the Constitution of the Undergraduate Student Government shall be 
interpreted for what it states. 

2. Whether a referendum has a turnout requirement. 
3. Whether a typographical error shall obstruct democracy. 
4. Whether the Undergraduate Student Government is a republican form of 

government. 
5. Whether the Supreme Court of the Undergraduate Student Government can 

interpret and have jurisdiction over SUNY Guidelines and recommendations. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



STATEMENT OF THE CASE 
 
On March 24th 2010, the annual Spring Undergraduate Student Government Election 

concluded with at least 1852 votes. The Officers upon their election became the 

representatives of the entire undergraduate student population. On September 30th, 

2010 the Senate of the Undergraduate Student Government, by unanimous vote, 

passed the “2010-2011 Referendum on the Undergraduate Student Activity Fee.” 

Shortly thereafter, on October 1st 2010, the Executive Council passed the same 

referendum by a vote of 5-1-0. With no objection from the Undergraduate Student 

Body, the Elections Board, or the Universities’ Vice-President for Student Affairs, the 

referendum was placed on the ballot. During the Fall 2010 elections, the referendum 

passed by a vote of 117-101. Shortly thereafter, the Elections Board certified the 

validity of the Elections. On December 8th 2010, the President and Executive Vice-

President of the Undergraduate Student Government submitted a brief requesting the 

invalidation of a previously certified election. 

 
ARGUMENT  
 

I. 
 

Article IX of the Constitution of the Undergraduate Student Government states 

the following: 

 
There shall be four types of referenda: 

1. Advisory Funding Referendum – referendum on the use of the Student 
Activity Fee, including whether a club/organization shall be budgeted 
money. Advisory funding referenda are not binding on the 
Undergraduate Student Government in accordance with the SUNY 
Chancellor’s Guidelines. 

2. Amendment Referendum – referendum dealing with amendments to the 



Constitution. This type of referendum is enumerated and shall be carried 
out in accordance with in Article XI, Section 1 of this Constitution. 
Amendment referenda are binding on the Undergraduate Student 
Government. 

3. Student Activity Fee Referendum – referendum on the amount of the 
Student Activity Fee. This type of referendum may be placed on or 
removed from the ballot by two- thirds votes of those present at the 
Senate and the Executive Council, or by a petition of fifteen percent of 
the membership of the Undergraduate Student Government, and shall 
pass by a simple majority of votes cast at the ballot in a general election. 
Student Activity Fee referenda are binding on the Undergraduate 
Student Government. 

4. Mandatory Student Activity Fee Question – Once every two years 
during the Spring election for President, the Undergraduate Student 
Government shall have a referendum on whether the Student Activity 
Fee shall be mandatory or voluntary in accordance with the SUNY 
Chancellor’s Guidelines. This type of referendum shall pass by a simple 
majority of votes cast at the ballot. A Mandatory Student Activity Fee 
Question may be held in addition to holding this type of referendum 
once every two years, provided that a two-thirds majority of those 
present at the Senate and the Executive Council agree, and such 
determination shall take effect for the following academic year. 
Mandatory Student Activity Fee Questions are binding on the 
Undergraduate Student Government. 

 
 
 It is important to note that each type of referenda provides an explicit and direct 

procedure. Section 1.A.1 provides the distinction between binding and unbinding 

referenda. It used to be the case that any organization could place a referendum on the 

ballot to mandate that the undergraduate student government provide a certain amount of 

each student activity fee to a certain line item of the annual budget. As this process 

obfuscated and vitiated the established budgeting process1, it was made explicit that such 

referenda would not be binding, and further, those referenda shall only advise the 

budgeting process. Section 1.A.2 (and subsequent sections) provides for the process and 

guidelines for the amendment of the Constitution of the Undergraduate Student 
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Government. 

 
 Section 1.A.3 is of the most interest to the Court at this time. This section provides 

for the necessary conditions that must be satisfied prior to the placement of student 

activity fee referendum on the ballot. Each of these necessary conditions was more than 

sufficiently met by the corresponding votes (100% in Senate, 83% in Executive Council). 

The section then states “and shall pass by a simple majority of votes cast at the ballot in 

a general election.”  

 
 The key words being, “simple majority.” Simple majority can be defined as “a 

subset of a group consisting of more than half of the group.” Simple majority is often 

used in instead of another traditional requirement (two-thirds). In fact, Section 1.A.4 does 

exactly that! It requires that on the question of mandatory/voluntary, the vote must attain 

at least two-thirds of those voting. This is a long lasting tradition on this campus, as I 

refer to the Polity Constitution of 19932, it states the following, “A referendum shall be 

adopted if a majority of those casting ballots vote affirmatively.” The referendum passed 

117-101. If one considers the entire group (218), 117 (those who voted yes) are more 

than the required half (51%).  

117+101=218/2=109 
117>109 

 
 The Constitution requires “simple majority” and it is unquestionable that this vote 
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was attained.  

 Further, the Constitution then states, “Student Activity Fee referenda are binding 

on the Undergraduate Student Government.” The vote is binding on the Undergraduate 

Student Government, even if the vote was 2-1, it would be binding. The inherent fairness 

of this part of the Constitution is not a question that the Court can deal with. Rather, it is 

the job of the Senate, Executive Council or Undergraduate Student Body to amend the 

Constitution if they do not feel it is in accordance with the best interest of the student 

body. 

 

II. 

 The next question is whether or not an election has a turnout requirement. The 

Constitution of the Undergraduate Student Government has one specific turnout 

requirement, Article XI, Section 1.A, “A two thirds vote of the Undergraduate Student 

Government by referendum shall be required to adopt an amendment to this 

Constitution.” There is speculation that this was not the intention of the framers, as the 

Polity Constitution of 1993 states, “An amendment will be considered ratified if 2/3 of 

the members of Polity voting on the amendment vote affirmatively.” Regardless of that 

situation, a direct textual interpretation of the clause in our constitution that binds 

referenda (by simple majority vote) clearly mandates no turnout requirement as the other 

that is required to amend clause does. Further, the petitioners are seeking to illegally 

establish ex post facto turnout requirements when there were none. This is a dangerous 

precedent, as turnout requirements are entirely a value judgment. The petitioners do not 

prescribe a number to their requirements, but they simply state that 218 is not enough. 



Well, the question then becomes, what is enough? The petitioners desire is a bullyish 

attempt to “raise the bar” after the fact. If the petitioners honestly disagree with the 

requirements, the remedy is utterly clear, amend the constitution. This is a policy 

decision, not a decision that can reasonably made by the court, which is an interpretative 

body. You cannot interpret what does not exist! 

 Further, the legitimacy and efficacy of turnout requirements is something that is 

questioned by many academics. To take a passage from an Quorum and Turnout in 

Referenda by Helios Herrera (of Columbia University) and Andrea Mattozzi3: 

 

 Direct democracy is only established in many democratic countries, and the 

use and scope of direct democracy institutions are increasing all around the world. 

In Europe, for instance, the average number of referenda held every year was 0.18 

in the 80s, 0.39 in the 90s, and is around 0.27 in the current decade. 

 In many countries and in some US states referenda have to meet certain 

turnout requirements in order to be valid. Typically, the status quo can be 

overturned only if a majority of voters is in favor of it, and the turnout reaches a 

certain level, that is a participation quorum is met. In some cases an approval 

quorum is required, i.e., the turnout of the majority that is against the status quo 

has to reach a certain level. 

 The common rationale for a turnout requirement is that: a low turnout in 

referendums is seen as a threat to their legitimacy (Qvortrup 2002). In other 

words, to change the status quo policy a large pro- portion of citizens should take 
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part in this decision and a high turnout reacts the fact that enough citizen’s care 

about the issue at stake. However, the extent to which citizens care about an 

issue depends on the mobilization effort of political parties. In fact, political 

parties and allied interest groups spend a great deal of effort and huge amounts of 

campaign money in order to encourage citizens to vote for one of the alternatives. 

 The existence of a turnout requirement introduces a crucial asymmetry 

in the campaign strategy of organized groups, by allowing those in favor of the 

status quo issue to use a quorum-busting strategy. Instead of devoting resources to 

increase the turnout of voters opposing the reform, the status quo party can exploit 

the group of apathetic citizens. In fact, if a significant fraction of voters abstains, 

the referendum will fail due to lack of quorum, and the status quo will remain in 

place. 

The fact of the matter is that many constitutions do prescribe turnout requirements (our 

constitution does elsewhere), but it explicitly does not in this context.  

 The paper also makes an interest point, turnout in elections is heavily dependent on 

the activity of the participants in elections. In this election, there were no formal political 

parties formed (as in the case of every other USG Election) and there were only 6 

participants. If one takes the total vote (greater than or equal to 218 students), and divides 

that by 6, roughly each participant drew 36 voters. In Fall 2009, the student election had a 

voter turnout of 670, with 12 total participants, so roughly each participant drew 56 

voters. As each election was contested, other than one the competition and the amount of 

participants proportionately raised the amount of voters. In the Spring 2010 Elections, the 

voter turnout was 1852. There were overall, 40 participants in the election. Each 



participant therefore drew 46 votes. This scale, 36-46 is a reasonable scale, as is noted, 

there is a proportionate increase. Therefore, one notes that the amount of voters relatively 

proportionately increases. Obviously, the more people participating, the more people will 

vote. 

 

III. 

The 2010-2011 Referendum on the Undergraduate Student Activity Fee stated:  

The Undergraduate Student Activity Fee will be raised by $5.75, to $100 per 
semester, beginning in the Spring 2011 Semester. 

 

It is obvious that the goal of the statement, even if stated as 2010, was a typographical 

error. Obviously those who voted did not think they would retroactively pay. The claim 

made by the petitioner is absolutely absurd, and should be outright rejected for its 

absurdity.  

IV 

 The Undergraduate Student Government at Stony Brook University is a republican 

form of government. The elected officials are the representatives of the undergraduate 

student body. If the court is to in a judicial activist manner decide that there is a turnout 

requirement (that does not exist in the constitution for this vote), the Court shall then look 

to the Spring 2010 turnout. The Senate, which received hundreds of votes individually, 

by a unanimous vote decided to pass the referendum. The Executive Council (which 

many received nearly a thousand votes individually) further voted for the referendum by 

a majority of 83%. The purpose of each vote (individual officials and the branches as a 

group) is to represent the entire campus, and accordingly, the student representatives 



voted overwhelmingly to approve the referendum.  

CONCLUSION 

 The petitioners state that, in these hard economic times, “special effort should be 

made to educate the student body on any change in Tuition and fees.” 5.75 will not be the 

make or break decision as to whether or not students attend the university. However, the 

potential revenue, nearly $80,000, when collected, can provide free events and services 

that would be especially useful in these hard economic times. The Universities method of 

disbursing and allocating fees may be dubious and questionable, however, the 

Undergraduate Student Government’s methods on allocation and disbursement are in fact 

the most transparent. A student can simply log into the website of the Undergraduate 

Student Government, click budget, and they can know exactly where there money is 

going. The fact is, the Undergraduate Student Government does a tremendous job 

(especially in relation) of providing information relating to the Student Activity Fee.  

 The petitioners make an argument based on their own personal value judgments. 

When reading their petition, one notices an awful amount of “ought” and “should” but 

very rarely a statement of fact or the law. The Court cannot deal with questions of 

“ought” but rather, what is. Essentially the petitioners are falling into the classic is-ought 

problem. While it ought to be the case that we have a 100% turnout, it is the case that we 

had a 218-person turnout, and it is the case that the referendum passed according to the 

guidelines and it is the case that the referendum is binding.  
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